ISSN 2093-5986
RN EER
The Korean Journal

201114 62
M52 M2z
pp.131-146

of Health Service Management

HAosA dse 2 S4td dg A4

A=t
EAM s HAA sty 2ailhe)

AR, 2o

7
27499, 2t ek B

o X

El

The Perceptions of Marriage and Childbirth of Health Care Fields
College Students

Hye-Sook Kim'#, Jae-Sung Park®, Eun-Joo Jo®
‘Dept. of Health Administration, Dongseo University,
“Dept. of Health Care Administration, Kosin University,
“Dept. of Health Science Graduate School of Kasin University

<Abstract>

The purposes of this study were to identify and compared the selection conditions of spouses and
the perceptions of marriage and childbirth by sex. Moreover, this study tried to find the number of
child the study subjects want to have in their marriage and what factors were important for whether
they have no or one child or more than two children. The study subjects were college students who
were belong to 6 health care related departments selected randomly from all health care related
departments in one metropolitan area. In the selection conditions as their spouses, they ranked 'love’,
"personality’ and ‘wealthiness’ as important factors in order.

Male ranked females’ employment as 10th but female ranked it 5th. In conclusion, there were
concordances and dis-concordances on the perceptions of marriage and child birth by sex.
Understanding these factors caused by gender roles in our society could contribute to making new
policies for promoting marriage rate in younger age and overcoming the problems of low birth rates

by giving more specific data to policy makers for increasing child birth rate.

Key Words : Marriage, Perceptions of Marriage, Perceptions of Child Birth, Policies for Child Birth,
Child Birth Rate
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ae AR FOF $Ee A% = @ F4E9 ST o4 A3 o uAl
Fol Slzerhehe Bl BARAOR folst  wolUAW, FAY BT @ WAl 292 $uH
Qip <05), A4 A7 PAET the Be o £99) Aot AASAGTE 12>, Aol B2
From M a¥ks a¥thel $usEn 48 Adde 949 Pue) WARHS AN
<E 11> 2% BE RN folsA wgAw Aol
o %7k BB Aol B2 fF Fol7 A
o g Wz tHp <01). WARTHE 4] B3 e g
o agTye] LRI wlgo] FoTh EF =7
@e 204 U ofoN B BE 249 A9 AR AT AN FAANE 79
o 27, dgulel 271, aeln ABwe Ehe @ SRel HIgor, dgutke WAl ta
A= 43 Fa o4z SHIGT G & BL WS W a3ke TeTke go| 97
2o 29 MEHAT, Aol Fh 9 SSTE 13>
<E 12> S48 X} golof chst &9
SHE HA|(n=388) E=Hn=57) 0{(n=331)
- HT(SE) =9 G (SE) =2 G (SE) =2
w8 E7t 4.41(.73) 1 4.37(.77) 1 4.42(.73) 1
=282 Z7t 4.38(.72) 2 4.32(.78) 2 4.39(.71) 2
ME| g 7t 4.26(.74) 3 4.30(.73) 3 4.26(.75) 3
4|28 AYE B0t 4.05(.74) 4 4.23(.73) 4 4.02(.73) 4
T U8B Bt 3.86(.89) 5 3.93(.98) 5 3.84(.88) 6
F|Hoidel Bt 3.81(.80) 6 3.49(.97) 10 3.86(.76) 5
WX M FEAlske 24 3.78(.85) 7 3.77(.93) 6 3.78(.84) 7
OlSESAIMe 8#F & 3.76(.86) 8 3.67(.83) 8 3.78(.87) 8
HopA AY| sk= 94l 3.71(.87) 9 3.60(1.10) 9 3.73(.82) 9
ZEod 45 9 ol 37t 3.69(.78) 10 3.77(.80) 6 3.67(.78) 10
HoMMGAtAe| X5t 2.88(.97) " 2.67(1.04) " 2.92(.96) 1
<E 13> 41} S8 M} Polo] cist mAEA BI=(%)
E R
g g=
=1 01 =1 01
3 33(58.0) 250(76.0) 3 42(74.0) 221(67.0)
2 15(26.0) 63(19.0) =2/l 2 8(14.0) 89(27.0)
zoloiMe 1 9(16.0) 18(5.0) MEfolE 1 7(12.0) 21(6.0)
B A 57(100.0) 331(100.0) ;ﬁjgéﬁ A 57(100.0) 331(100.0)
y>=10.84, p = .004 ¥>=5.93, p = .052
3 0§ 3ok £= O, 20 X Jch 1 8s J"X| flok e 2| Yo
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7. 3FZA Qg A7

Ao st FAd2 825%, 0%*38 813%=Z
YRS &

3359 Aolen S, 544
=] o

o folaAE Golt A% BAY AT
S Bsel de B 9%t A%
Az Sesdm, e ARELIN7 AETA

2 SHNAL 2E T oAy AL disto
U JHgAEe AFo] QoM 1uk Folof ®

7t 351%= 7P =7 SRetAeH, 9449 7

A3t 36.6%2
o} Zpo]7} °1°i9_ﬂ1

Atkp <.01). =%
s MRS

FAH0Z 98 Folh
£ Adze B A
FAA BatelE W

@l*é L 575%E
Byou folst
A ke &
63.7%7} A3} olgkn
frof @ Aole QUo<E 14>

SHet] Huzt &4

]

] ol 5118}0:1 A4

<H 14> 43} FEHMo| CHet WREA E1=(%)
A A
SH=2 SH=2
- g of - o o
1 2(3.5) 21(6.0) 1 28(49.1) 118(36.0)
2 3(5.3) 15(5.0) 2 0(0.0) 12(4.0)
3 47(82.4) 269(81.0) 3 26(45.6) 179(54.0)
INIE] 4 4(7.0) 24(7.0) 4 2(3.5) 16(5.0)
okgol ol g 1(1.8) 2(1.0) 5 1(1.8) 6(2.0)
A 57(100.0) 331(100.0) =iy 57(100.0) 331(100.0)
=156 p =816 = 5.26° p = .262
1 12(21.0) 121(36.0) 1 3(5.3) 16(5.0)
2 20(35.0) 78(24.0) 2 3(5.3) 14(4.0
245 S : :
=22 9 4 3(5.0) 6(2.0) 4 6(6 2) 191(58.0)
oM E|E ; ' 5 5(8.8) 8(2.0)
cmre 5 18(32.0) 119(35.0) -
CHsh AYzt 7 1(1. 8) 5(2.0)
B 57(100.0) 331(100.0) =y 57(100.0) 331(100.0)
= 15.43°, p = .009 2= 11.10°, p = .085
1 5(9.0) 25(7.0)
HET} 2 17(30.0) 95(29.0)
Naizol 3 35(61.0) 211(64.0)
ERETE B 57(100.0) 331(100.0)
w=.16° p=.925
1) Rz Aol - 1: oMY, 2: olX|, 3: RS S, 4 71574 T o £ 7SS 5 =7t
2) MEA ZH2| HZEFA - 1:220e 2R, 2: 7I‘H 3 HE 4 M3, 5:7|E}
3) 22 T o{M Az oish 4z - 10 ASSic 20 7 Ml X|&o| oleM JokECt 3 fx7 OBk 4 ¢AS
M J0HECEH 5 |of T CHA| ZENES AL PEL 6: 7|Et
4) BA EE AEE Mz #HeE £ £ s HEYA 1. F‘ A=, 2 %°'7<IE 2 J|&Hot AXH| S X[H, 3 &
M= F7t 4 Sof F2 &l 4 LS L WSH| XY, ok S FAXY s 7: J|Ef
5) MBI AldFol AR — 1: g3X0|X| g, 2 EEOIEP 3 &2z P‘*OIEP

a: Fisher's exact test
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Ao AR 2 97 s, Zha Ade oAtk &I AR AP
ool A% WOt A HE 22w [6][8]01]}‘15 A FHA} 7 23 oRfE
A AREY AR AE WAL BAge s HOHO) GXEE SleR vEn. £d A2
4 FoF 2902 wolslga, nAfe AT OFSHE elrsh Aol et mAw e A A3t
M= AAg AAPS Uz =93 9i= e A YollA Tgol] H7| dEolge ol
sfolsldn 2 AT7e] Aol 714 s 9 & 44 875 FFo 2 $HS AT, o
22 oate] A Al = WA 94= HA 1 4ol Agle BAA g HER s 2E
g A WA= AAHola STeida, YRl 7] Wiolgte el o Be $HE Atk of
Ao o] AFME A AA, 181 ENE A Avs g SRele] A0 A&
Nt o Ane 7aze] AFIs 1A e glob = 7Y 283 ol E AT A
AT7BIE SARANA kol Aok qeAm T FES SR Aok A 5 WA 4l
Mg YASE Aol dE He o) e SEE AU, MR 3= RUPIATes o
N Algolate AL 4 208 arz Lo ok Ao} fAfeitt o] A9 A= SHAE
Aolth, AB9 zA0E Al EE oS 714 o] 2L Fatel dE & v A oo
Zz03 goloz ok AFEL =z 19500y ghe Aol HIFo] B wf g A4 Bad
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